Page:1 of 2

S 6 EEBET - BhHhPRLAKERRE LBEAS 202446 A 158 (+)
RE—BEx
BRI E
H 1+ fi B 147 2 {ir 3{r
Bl 1A 6/15 100m b #R Q) 12.78 [IUF  #HE(D) 12.98 | &)1 AFH (1) 12. 99
G -1.4 |5 -1.4 |HE -1.4
B 2 4 6/15 100m g % Q) 11.96 | Ki# #7K(2) 12.00 |£E/ —EH(2) 12. 05
iR -1.3 |{=8F -1.3 |4 -1.3
By EIR T 3 4E 6/15 100m I =Rk (3) 11.57 |IEH & —HB(3) 11.70 BP0 BBk (3) 11.83
e -0.9 |HIR -0.9 | K% -0.9
B - I T A 6/15 200m B0 Bk 3) 23.90 |GuHR  SHEE (3) 23.98 | ik (3) 24. 05
KIA -2.8 |REBHY -2.8 | IR -2.8
- IR T 4 3m 6/15 400m R OKER(3) 53.79 |HEJR  FHM(E (3) 53.88 | Kih(2) 54. 37
Hh g e IRy 5 — HiR
B - ley i H 6/15 800m o KF@) 2:01.38 [FH: A 3) 2:04.17 A H KH(2) 2:07.01
BiR 1= B iR
B -l T A 6/15 1500m A6 4:16. 87 [FAA P (3) 4:20.35 [BEJ EK () 4:22. 66
BIR IR 1= B
B B8 T 4 m 6/15 3000m FAAS PR (3) 9:14.91 |FiR Z=H(3) 9:22.07 |#&P8 BT (3) 9:24. 59
iR Bl B4
B -l T A 6/15 110mH IEH E—ER(3) 14. 73 [{EfE FHik (3) 15.56 |7EAK  —MrL(3) 16. 52
(0. 914m) BiR -2.3 |REER -2.3 % -2.3
B -l i A 6/15 4X100m |&HR 45.15 |REFSEE 45. 63 | BRSO 45. 87
Wi 2 (3) WH 0 (3) R A (3)
EH &EF—BR3) efg FHk(3) WH &4 (3)
eRg BE (3) LR EFG) I B14(3)
i FR (3) B P (3) IR B (3)
- rmey i 4 am 6/15 7 Bk KE A (@3) Im75 |AkE — M (2) Im70 |54 78 (3) Im70
R KIA iR
B E g 4w 6/15 e = Bk g AN (3) 4m00 /NIl B+ (3) am00 |HE #L(2) 3m30
B4 FERS Fp g rh A
B E I T e im 6/15 A Bk WH & @3) 6m08 |'E M PR (3) 6m00 | AR JIHE(3) 5m95
T o +2.0 |BEER +3.6 |l +2.6
B E I T e am 6/15 i A% A BAQR) 1Im18 |HifE  KER(3) 10mb59 | FHR A (3) 10m53
(4. 000kg) BB A BiR
B - Eiy i 6/15 P AH BEAOR) 28m60 |[HHE 15 (3) 26m06 | FJE fE(3) 23m68
(1. 500kg) FEER A8y R
IR 55 e A L | IR 1245 |BEFE 86,5 |1 60




Page:2 of 2

FTH6HEERIAT - RPTPPAREGHEFARELERXS 20244£6 A158 (+)

RB—Bx
BIETHR)IEES
EED) i H 147 241 3L
AR 1 AR 6/15 100m s B Q) 13.85 |Z5fk  #EFRE (1) 13.94 |[hH  EwE(1) 14. 11
Zerh -2.3 | B — -2.3 |@mk -2.3
A& 2 4 6/15 100m TR EZR(2) 13.22 |43 ZEE(2) 13.41 | By £ ©) 13. 94
i -4. 4 |{EEF ~4.4 &= -4, 4
-l 3 4E 6/15 100m IR FEHR (3) 12.81 |[&EA  #i4(3) 13.16 |4 £ (3) 13.20
2 0.9 |REEM -0.9 &k -0.9
2+ IRy T A 6/15 200m #IF HEHL(3) 26.24 [JLJE =B (2) 26.59 EH E(3) 26. 94
2 0.3 |[{£5F -0.3 |H)E -0.3
Leauar=a Ay T B ST 6/15 800m e K HHE(3) 2:19.11 |[ER ERIB(2) 2:21.02 [k E£FE Q) 2:21.56
Leauar=a Ay T B ST 6/15 1500m AHE ERACER (3) 4:49.55 |[KRE ERIB(2) 4:51.58 [HrfR WEE (3) 4:52.19
KIH FER o KIE
Leauar=a Ay T B ST 6/15 100mH B WA (3) 14. 48 |#i L Fofb 7 (3) 15. 35 |HAS  HAEH(3) 15. 47
(0. 762m) B -0.9 | -0.9 |ZH -1.0
-y T e 6/15 4X100m |&EH 51. 30 |18 51.65 |BEFSFE 52.12
A sk (3) &S BFEQ) &N =R
KFn HEE®) g T AHN(2) BAR B4 (3)
il E&(3) BAMR  HkZ&(3) AH EZE(3)
AR H#EZEG) LR ER (@) YIS 16))
-y T A aE 6/15 ST i THEE®G) Im45 |flEE Be3E(3) Im40 | < 5(2) 1m40
R Hp I o J T
6/15 e Bk U8 FofE 1 (3) KH HE%E(3) 3m00 |[LilsF  3Erd 1 (2) 2m70
Hp o 2 RS J\I%
6/15 A Bk AT ERG) vEEE BT (3) 4m94 | FH  EH(3) 4m86
AL Hp I o +1.5 | BEESEE +2.2
6/15 AL EHHOLME®R) PaiE IR (2) 10m94 \f&E 1 (3) 10m42
(2. 721kg) FHE I H £ BPR LR
6/15 AP INE ETE(2) Ar g (3) 26m38 |V K (2) 26m30
(1. 000kg) AR B4 B gl
W 2R A4S | BERS e SEIEEY VN 4945 |1 46. 515,




